Q IFixiT

HP Stream 13-c110nr Display Replacement

The Display Assembly repair guide will assist...




INTRODUCTION

The Display Assembly repair guide will assist users to repair the monitor of the HP Stream
13-c110nr. The guide will also provide steps to remove the WLAN and camera assembly.

TOOLS:

Phillips #0 Screwdriver (1)
Spudger (1)

Pick Tool (1)

Magnetic Project Mat (1)
Tweezers (1)

Step 1 — Keyboard Assembly

® (lose the device.

® Remove AC adapter plug from
electrical outlet.

® Remove AC adapter from
device.

® Turn the device off.

® Unplug all external devices
from device.

@ 1f you are unsure whether the
computer is off or in
hibernation mode, start the
computer and then shutdown
the operating system.


https://www.ifixit.com/products/phillips-0-screwdriver
https://www.ifixit.com/products/spudger
https://www.amazon.com/TEKTON-6943-Precision-Pick-4-Piece/dp/B000NPPBQK/ref=sr_1_3?ie=UTF8&qid=1488057780&sr=8-3&keywords=pick+tool
https://www.ifixit.com/products/magnetic-project-mat
https://www.ifixit.com/products/tweezers

Step 2

® Turn the device upside down
with the back facing towards
you.

Step 3

® Use a pick to remove the two (2) large computer feet along the back edge of the device.
@ Use a pick to remove the two (2) small computer feet.
Use a pick to remove the one (1) screw cover.

® Place rubber computer feet in safe place for reassembly.



® Remove the thirteen (13) Phillips PO PM2.5x6.0 mm screws.

® Place the thirteen (13) screws on magnetic mat for reassembly.

Step 5

® Turn the device over with the
front facing towards you.

® Open the device as shown.



https://www.ifixit.com/products/magnetic-project-mat

Step 6

® Insert the Spudger between the Top Cover and Bottom Cover to lift the front edge until
it separates from the Bottom Cover.

@ Do not completely remove the Keyboard/Top cover from the Bottom cover yet.

Step 7

® Disconnect the Touchpad
cable.




® Disconnect the Keyboard Cable.

Step 9

Llnu\nwﬁfnﬁﬁ\ml\ T

9277

® Disconnect the Power connector cable.



® Remove the Keyboard/Top
Cover from the device.

® Disconnect the Display Cable
from the System Board.

ITH Kp S -
l) e
gfgg/////l//////

79277
D

REP Ay -
o
9

C1




® Remove the four (4) Phillips PO PM2.5x4.5 mm screws from the screen retaining
brackets.

Place the four (4) screws on the magnetic mat for reassembly.

Step 13

® Peel off two (2) stickers located at the bottom corners of the display assembly.

Place two (2) stickers in safe place for reassembly.



Step 14

® Remove the two (2) Phillips PO PM2.5%2.0 mm Screws.

Place the two (2) screws on the magnetic mat for reassembly.

Step 15

® Use a pick to pry off the display cover from the display.



® Remove the Display Assembly.

® Remove the four (4) Phillips PO PM2.5x4.5 mm screws.
Place four (4) screws on magnetic mat for reassembly.

Remove the two (2) Phillips PO PM2.5x3.0 mm screws.
Place two (2) screws on magnetic mat for reassembly.



® Separate display from back
cover

To reassemble your device, follow these instructions in reverse order.



